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tRH 17 326 10 2 1 2 1
IMATT 33 160 16 5 5 5 2
HEH 12 140 6 2 1 3 2
B 8 32 4 1 1 0 2
R 19 113 12 5 6 6 19
PV 1 106 1 0 0 0 0
MEL T 8 37 3 1 1 1 0
B 24 " 222 19 1 1 9 4
B 55 4. 2 2 1
Ji3LEr 0 0 0
REEEH 1 0 0 1 0
5 2 Bl 6 6 6 1 1 4
EIES 6 67 6 1 1 4
REBET 10 108 6 2 2 0 2
AT - 1 60 7 1 2 2 0
AL 2 168 13 3 4 2 2
ERAT 5 54 0 1 0 1 1
2 kKE 3 29 0 0 3 1
TR 8 83 0 1 4 2
hE S AT 1 43 2 1 0 0 0
ESH 1 43 2 1 0 0 0
7IKET 1 21 0 0 0 0 0
HEBET 5 3 1 2 0 0
[EXS 6 4 1 ] 2 0 0
BamEt 0 0 0 0 0 0 -0

Z DO 222 2,268 162 . 32 29 65 44
Bt At 43 420 22 8 8 10 5
_REt 265 2,688 184 40 37 75 49
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AT 16 3 245
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i 5 1 54
oy L 17 4 201
e 2 0 116
MEL 1 1 53
B 16 2 298
fekd 4 0 15
e i 0 8
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S A THE 6 1 9
ENED 3 1 9
RAEET 5 0 135
FIREET 2 0 85
3L E 7 0 220
T 2 0 64
KA 1 0 37
Ve 3 0 101
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FOKEY 2 1 25
LSBT 6 1. 50
BEE 8 7 75
B A 0 0 0
ZOlnHE 104 29 2. 955
BrAEt 26 3 545
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